NANYANG PRIMARY SCHOOL

END-OF-YEAR EXAMINATION
2024

PRIMARY3
MATHEMATICS

Duration: 1 hour 30 minutes

INSTRUCTIONS TO STUDENTS

1. Do not turn over this page untif you are told to do so.
2. Follow all instructions carefully.

3. Answer ali questions.

4. Write your answers in this booklet.

Name: ( )

Class: Primary 3 ( )

Parent’s Signature;

McQ {5
SAQ /128
LAQ f17 |
Total !/ 50

Please sign and return the ‘examination paper the next day. Any queries
should be raised af the same time when returning paper.
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Multiple Choice Questions (MCQ})

Questions 1 to 5 carry 1 mark each. For each question, four options are given.
Cne of them Is the correct answer. Make your choice (1, 2, 3 or 4) and write

your answer {1, 2, 3 or 4} in the bracket { ) provided.

{5 marks)
1. What is three thousand, six hundred and six written as a numeral?
(1) 3066
2y 3368
(3) 3606
(4) 3660

2. What s the missing number in the equation below?

7023 = 7000 + +3

(1)
(2)
3)
)

203
200
23
20
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3,  ‘Amangethe fractions it order fromihe greatest to the smallest.

B

Greatest

Y

@

(3)

A

]
{2)
{3
)

GIns  Goird  ~for ~en,

2kg8g
2kg80g
20kgBg

20 kg 80g

ir

2

~Jten N SR Nl

Nl ~jor Nes GolN

Express 2080 g in kifogranis and grams.
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5.

Each

has an area of 1 square unit.

1 unit

31 unit

What is the area of the figure above?

(1
(2)
(3}
(4)

23 square units
21 square units
18 square unis

18 square units
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Quesﬁons 6 to 13 carry 1 mark each. Write your answers in the spaces
provided. For questions whsch require units, give your answers in the units

stated.
(8 marks)

6.  Whatis the missing denominater?

2 . 2
5

Ans:

7. Expregs 33% in its simplest form.

Ans:

8. How many acute angles are there in the figure below?




9. Find the perimeter of the square.

9cm

Ans: cm

10.  The length of a rectangular grass patchis 8 m.
lts breadth is 7 m.
What is the area of the grass patch?

Ans: m?

11, Write the time 00 10 in 12-hour clock,

Ans:
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12, Axel started to cycle at 11 30.
How long did he cycle?

Ans: h min

48. There are 3 bags, A, B and C.
All the pens in each bag are put into groups of 6.

Bag A ~ BagB Bag C
Bag A has.36 pens.

It contains the least number of pens,

The number of pens in Bag B is between 46 and 50,
Bag C has fewer pens than Bag B.

How many peris are there in Bag C7

Ans:




Short-Answer Questions (SAQ)

Questions 14 to 23 carry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated,

{20 marks)
14. Look at the number patterns below:
Find the missing number in each number pattern.
(a) 3699 3700 - 3800 , 3819 . 3919 , 3020 ,[_7_ ]
4038 | 4139 .
Ans: (a)
() [ 2. 7489 , 7530 , 7589 , 7639 , 7689
Ans: (b)
15. (a) Find the sum of 580 and 1320.
Ans: (&)

(b) 8001 - = 2417

Ans: (b)
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16. - {a) Mlcheile bought 5 frays ef: e‘ggs
' ‘Each tray had 8 eggs.
How many egygs: did Mlchelle buy altogether?

Ans: {a)

(b) - Mnchelle used 4 eggs to bake each cake.
How many takes ceutd she bak’e with ait the eggs that she
bought? .

Ans: (b)

17. Look atthe figure below.
AB, BC, CD, DE and EF are straight lines.

\\ _ .'\\\
, \ /' 1 //
B I/ 2
(a) Name a pair of parallel lines.
Ans: and
{b) Name:a pair of perpendlcular lines.
Ans: ___ and,




18.  Cheva formed 2 different numbers using the digit cards below.
Each digit can only be used once for each number.

381000

(a) For thé ﬁ-rst number, he formed the smallest 4-’digif odd number.
What number did he form?

Ans: (a)

{b) For the second number, he formed the. greatest 3-digit even number
hetweer 800 and 900,
What number did he form?

Ans: (b)

19. A wallet costs $56.90.
A water boftle costs $12.50 less than the wallet.
How much does the water bottle cost?

Ans: $
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20.  Look at the number lines below.

O_,____..._.
}_...u-
ek
o]
R
il

O

Find the difference between B and A.

Ans:

21. LI Meng started doing her homework at 14 30.
Shetook 4 h to wiite an English composition.
Shie then took ancther A h 35 min: to selve some word probietis.
What time did she. complete her homework?

10



22.

There were some students in the library at first.
18 students left the library.

13 students then went into the library.
In the end, there were 312 students left in the library.
How many students were there in the library at first?

23.

Joey has 76 sweets.

She packs all the swests into bags of 3 sweets or bags of 5 sweets.
She has 20 bags of sweets after packing.
How many bags of 3 swests are there?

Ans:

1
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Long-Answer Questions (LAQ - .
For questions 24 to 28, show your working clearly and write your gnswers in
the spaces provided. The aumber of roarks available is sfiown in brackets [ ]

at the end of sach question or part-question. ’ ' '

' {17 marks}

24. The bar graph shows the number of egg sandwiches and funa
sandwiches sold at Nanyang Cafe from Monday to Thursday.

Number of sandwiches sold at Nanyang Cafe

Wed
{ OTuha
 2FEgg

Day

Tue

Mori

o 10 20 30 40 &0 60 70 80 90
Numhber of sandwiches

() How many more tuna sandwiches than egg sandwicties were sold
on Tuesddy?

Ans: (&) 1]

12



(b} Which day had the greatest difference in the number of egg
sandwiches and tuna sandwiches sold?

Ans:  (b) (1]

(c) The cafe sold each egg sandwich for §2.

What was the total amount coflected from the sale of egy
sandwiches on Wednesday and Thursday?

Anst  (c) 1]

13
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25.  Alihad 128 more. stickers than Bala at first.
Ali gave 25 stickers to Bala.
How many more stickers did Ali have than Bala in the end?

Ans: . I3]

26. There was a total of 756 visitors at the zoo.
There were 3 times g8 many children as adults.
How marny morfe children tham adults were there?

Ans: ]

4



27. A total of 382 packets of biscuits were collected for a donation drive on
Saturday and Sunday.

These biscuits collected were given.to families.
Each family was given 8 packets of biscuits.

(a) What was the greatest number of families that received the
biscuits?

Ans: (a) {2]

(b} 22 more packets of biscuits were collected on Sunday than on
Saturday.

How many packets of biscuits were collected on Saturday?

Ans. (b) [2]

15
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28. A pail contains 5320 mi of water. _ |
Meera poiired away 4470 il bf water from the pai.

(a) How mugh waterwas left in the pail?

Ans: {a) R 14 |

(b) Meara poured all the water left in the pall equally into 5 identical
empty jugs.
Howr miuch water did she pourinto each jug?

e @

End of Paper

18
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. Muilple Chaice Questiors = (e

Gestions 1 0 B cany | e e
One of b Is the correct o Flessch For maoh quastion,

Tour opli
yous answer (1, 2, 30r4) & 1y mbmgﬂwm””“”m & Dns]are given.

1.

Tod, 1.2, 2arq)p
(5 mearksy

What I three thous s v, g ungireg end sik wilter) as & numerary
Ta
¢ 3088
{2} 3358
(35 3608
@ ssed

What fs the. missing TRMber i the squsion Delow?
na=ro00s 7,

3 203"

{2 200

B =

(4 20

6. Eagh [jhasanama of 1 square unlf,

5

1 unt

What Is the area of the Migurs above?

1
(2}
@
(4)

23 square uniis
21 aguam unils
1% square units

18 square unlis

{2

i tast.
3 Acrenge ihe fractions In order from Lha grestest 1o the ema

3
1 2 kS
z g 7

Smafiest

9?
\%
El

i

(2}

&)

Malen el MmN

ol fm o e
len Nl @R N

@

4 Express 2080 ¢ [n kicgrams and grams.

1) 2xgBg .

[y Z24gB0y )
3 2WkgBa

4} 20kgB8tg

Short-Answer Qusstions (SAQ)

Questions & to 13 cany 1 mark each. Write your enswars In the spaceg
provided.  For questions whick require unlts, plve your answars. Int the umits
stated.

(8 parks]

B. Wit Is the missing denominator?

sras Ana: I5

7. Expmss _3§ Inibs simplest tommn.
! ’ 2
pLs
35
-'.-1

el

Ang:

L

Hew many acule angles ara thera In the Sgure below?
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i
H
H
H
i

i
H

2. Findlhe parir;ﬁetef of ke squers, -

B4ak 449 = 36
or

g% 4= 36 -

Ans: 36 om
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42, A;xel started 1o cycls & 14 30,
He firished cyaling 2t 13 17.
How teng did ha cycls?

Ih gomm Ylmin
T N ey

L

I+ 300 + 11 win = lir A ewin

10.  The tength of a rectanguilar rass patch Is @ m.
fts breadth [ 7 m,
What is tha arqa of the gress paich?
Area=- 82T .- T
z B

Anst 56 mt
54, Wiite the tme b0 10 In 42-hour clock,
tato is laTo0em
(aftrer sidnight)

Ans: 12=|0am

Short-Answer Questions {SAG) )

Questions 14 to 23 cany 2 marks each, Shw your working chearly and wile
your answess in the spacas provided. For quastigns whish require unils, give
your answerd ki the Lniis stated,

{20 marks}
14,  Look at tha number patterns balow.
Etnt tha missing rumbar in esch numbar patiam.
o weg 1O sop €10 4o
(a) 3689 , 3700, 3808 , 3E1e s 7 |
8| 1 7 . 3gde , 3048, 3628 , .
4039 , #4139
3929+ 100 = #4029

. P
% ke w0

=50
J489-50= T34

p) [T, ™89 , vsm , Tsee . TEM . 7820
uw'\.—/

ey 14349

15, (&) Flnd the wum of 580 and 1320,

y320
+ 5bo

T8€0
—_ poe:a) 1880

() 80M ~ [T = 2477

* Ars: 8) 568%

pns__ L n_ KL win

43, Therearadtboge, A, 8and G,

Allthe pen in asch bag ara put into]groups of 8],

Bag A Bag B BagC

Bag A has 36 pens.

Ilmnlqlmlhaleas{nunﬁor of pens,
?hanmnbarofpemlnBagBBthﬁand 50,
Bag C bras fewsr pensthan Bag B,

How many pens are there In Bag o1}

Lk all emchiples of &
36, 41,48

6. {a) Mkhels bought S trays of eggs.
Each tray had 8 aggs.
How many epus did Michefle buy aHogether?

EX §=40
4D

Ans: (8}

(b) Michehe used 4 eggs lo baks wach cake.
How mmany cakes could she bake wilh gl the agps that she
‘baught?

y =10

Ans: {b} 1D

17.  Lock atthe figure below.

ABBC, CO, DE and EF ars stralght ines.

[8) Namsa pair of paraiiel Enos.
ansi_AB __ana_EF

(s} Ngme.a pai of parpendicuiar ines,
Ane— BC  am_CP




18, Cheva formet 2 different numbers using the digit cards balow.
Each aiglt can only be used orica foreaeh number,

LEEEG

(8} Forthe fist number, he fomad the smuailest 4-digh odd number.
What number did ba foem?

Do rot skark uith ‘ol

J 233
F F
Small :
matlest gg’ﬁes‘!- o) 1034

(k) Forthe second numbar, he formad the grealast 3-digh even number
betwaen 300 and 500,
Whial number did he form?

8 9 o
Ssmallest

tutn Ans: (b) 40
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20, Look 2t the aumber fines bsiow.,

Y S O
T T
1] % %
| i
f |

3
Fird the diarsnce between 8 and A
i-F
<54
-

- or equival ant
&
Ans:

. Awalletcosts $S8.90, | .
Awater bottla costs $12.50 less than (e wallat,
Hew much does tha water bottls cost?

$56.90- $12-50 = $4uhp

Ansg HHHO

22, Thers were some efutiants [ the libeary at first.
18 students lefi the library.
18 students then want Into tho lbrary.
in the end, Mere were 312 students feé In the Horary.
Hew many students wene fhere iy the Ibrary af first?

az~13 = 2499
294 + 18 = 37

Ans: 317

3. Joey has 78 swedls.
She packs all tha swasls inlo bags of 3 sweels or bags of & swests.
She has 20 bags of sweets after packing.
How many bags of 3 swaets are there?

1248 2

No. of bagd Thp. of Ha. &% bag? | N, ot ne.
Hietaod of 3svelets | sweeds af—Ss\:ﬂﬂs Sv:-e.:f-s ofsw:eo-ks

: 12 (iaws=3| g PX5=40 | 364402 T

~—

Mettod Suppose all are Bqﬁs of 3 sweels
1 WA 3= 60
Th-box 16

Gr3=2

[pe 2z &
W-gsid
. Me;hud. -~ Suppase all art_bags. of. 5 swats s i

20%5=1tpg e

W0 76= &F
S5-3=2 B
2EF2 212 i

21, LiMeng starled doing her homewark 2t 14 30.
She: took 1 k fo write an English comppsillan,
Sha than took angther 1 h 36 min to solve same werd problams.
What fima dld she complele her homeweirk? -

I h B5mily

430 1830 w105

A T 05 o 5:05p

Long-Answer QuesHons (LAGY)

For questions 24 {6 28, show your werking claarly and wiils your answers In
the spaces prowided. Tha mimber af marks avakzble le shown In Drackats { |
at tha and of each quesiion or part-question.

{17 marks)

24.  Tha bar graph shows the number of egy =andwiches end {una
sandwiches sold 81 Nanyang Cafe from Monday s Thursday.

of sanc

sofd at Nanyang Cafa

DTuna
BEyg

F A2 T T T —r T + L8 - —r
o 16 20 30 4 B0 BD YO 80 B0
. Number of sandwiches ]

[a} Hmv.mmy ore tuea sandwiches than gy sandwiches were soff
oh Tuesday?

- [R——

80- #5= 35

Ans () i

—_—
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- . | ) -
() Which day had iha grealest difference in the number of egg . . " : Bala al o
sandwiches and tuna sancdwiches s0ld? = . . ::‘2 gh:d\,;' gg m;:'iﬁ.’:& an Sala alArs, - .
How enany mora stickers did Ali huve the Baia in the end? Lo
(28—
i Bs I

a5+ 35 < 50
Jag -50= 12 Bala m/
! . !

]

ey Medday g

{) The cafe sokd each egg sandwieh for §2, '
What was Lha total amount collected from the sale of eog 18
sandwiches on Wednesday and Thursday? ARs! [ |

25, Therawas atotal of 756 vishors gl the zoo.
_ Thera ware 3 {imes a5 many chitdren as adulls.
How many mpra children ihan adutls ware thara? .

o +§e = 120 Lo S
RO @2 =20 ' o ST
aidven [T T3
: . i . i 186
Aduds [ }—T1—>
56> 4= 189 (1ueid)
189x3 = 378 (Runws)
pos o) _SAMC At 318 -
13 14
27, Atotal of 382 packets of Disculls were collecled for a docwtion drive on .
28,  Apall contalng 5320 ml of waler.
mw anﬂu Sunday. were ghvento Jmitee, Msora poured sway 4470 m) of water from {he pal.
Each family wes phven & packels of biscuis. {a) How much water was left In the pat?
{s} Whst wes the grealest number of familes fhat racolved ta
blscuits? E————5300m| ——3
. [T tound away | Itk |
aga: br 63RE Blomit 7o o
Fazo - 4y = €50
s o) 4z - s @ B0l @
{b} 22 more packets of bisculls were collected on Sunday then on l ' ) mx;&m o e vater e n the ol equaly ko antet
S Haw much waler did sha pour inlo each jug?

How many packets of biscuits were coiected on Saturdey?
Z2

> :
Lo e | #5210
292 . gsex S .

. Sat
36b+ 2 = 180 e__f—_—,_—:—l

382 -22= kD

L

o e o 1 180 o

End of Paper

1%




